Total No. of Printed Pages : 40 . BOOKLET |
;SJJ@QQ;’) DAhe ﬁ;ém 40 AP TET - PAPER Il (SOCIAL STUDIES) wgaeg

JULY 2011
Hall Ticket No.[ Slgn of the Invigilator
6 3265 Jowth _ BUREND Bodlo

TET-311-EM/TM

Time : 2 hours 30 min. ' Max. Marks : 150

Ssociioo: 2 fon 30 Dneo : . o 1oE SPtoyeo ¢ 150

Instructions to the caﬁdidaté :
ef;ﬁa&b BEOHe @ '

1.

TET:-311-Ef

~ Write your Hall Tl(‘,ket Number in the box provided at the left side of the booklet

immediately after receiving the Test Booklet
b 22050500 B8y Dowsd 2888 aczm:s@ s é‘«f}iaﬁ%é‘s £ 55 038 Dowt ,
moﬁ@

Check whether the Test Booklet conta:ms as many pages as are prmted on the
top of this page. .

B3 o priios” m:@oa:) Do SOz enSalSs” e&K)& ey smBr B a&%@obo?a‘@

Check whether all the pages are prlnted properly. Do not remove any pages from
the Test Booklet.

505 208B56% @) SHE° S WO sof B 80 BT, Bog wEBSEN O L§b
$230) HishosETESa.

-~

‘Indlcate your dnswers in the given OMR answer sheet only. Read the

instructions given on both sides of the OMR answer sheet and follow
accordingly. Do not write the answers in the Test Booklet.

80 SErgEes 505 OMR 555 Bpes™ Kemd. OMR $55P SE08 360
FDH9 RFDBER0 BAD BERbeT Pled. 303 2088858 warrares crobsREse.

This Test Booklet consists of 150 multiple choice questions. Answer all the
questions. Each question carries one (1) mark only.

e B8y wo5TSST 150 DLy fpoTrc. ey @@eg: a;‘.\:nqs‘moo q;}‘g@ 6 ©a%

e zs:secbb (1) bﬁ@ﬁ: 608000

PTO.



prathibhaa
Text Box
AP TET - PAPER II (SOCIAL STUDIES)
                     JULY 2011


BOOKLET
200585

6. Do not do any rough work in the Test Booklet. Use only the white paper provi'ded
at the end of the question booklet for rough work.

985 20ofBsE" dored Dy B DoToErss. JBF w088 DRSE® 3B By ThEY BB
Do HIZ VBFROTL. '

7.  After completion of the examination hand over the OMR answer sheet to the.
Hall Superintendent without fail.

w0y 9o wowd Dowd OMR S8rges Signd) oo BrBBoBoRohsS &0 Hom
9ol BOSRY, '

8.  Candidate will not be permitted to leave the examination hall till the completion
of the stipulated examination time. ‘

gron O Bocie g THem BOF KO DG DehetH el ekidontn.

—

:-.-._ ,f,\
TET-311-EM/] [2]



PART |

BOOKLET-

CHILD DEVELOPMENT AND PEDAGOGY

Non-verbal intelligence test can

be used for ......

(1) illiterates only.

(2) children only.

(3) literates and illiterates.

~ (4) all irrespective of age.
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The correct statement among the I

followmg in relatlon to memory

' (1) Recall is greater fhan
‘recognition. ' |

(2) Recognition ig greater than
© recall.
(3) Recall and Recogmtlon are

~ equal I
. (4) . Recogmtlon is exactly double
of recall.
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3.

The Right of children to Free and
Compulsory Education Act, 2009
is applicable to the ....

(1) whole of India.
~ (2) - whole of India except Union

Territories.

" (3) whole of India except the

" State of Jainmu & Kashmir,

(4) whole of India except the

State of'Keraia. \
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A class room teacher is interested
to study "the influence of the
study habits of the children on
their achievement". In this study
"achievement of the children" is ....
(1) Interference variable

(2) Independent variable

"~ (3) :Dependent variable

(4) Dual variable
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An example of classical

conditioning is .......

(1) Rat presses lever for delivery
of food.

(2) Dog learns to salivate on
hearing bell.

- (3) Pigeon:peeps at key for food

delivery: _
(4) Dogs learn helplessness from
« electric shocks.
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Positive attitude among the High
School students towards learning

(1) can be inculcated.

(2) cannot be inculcated as they
are already grownm-up.

(3) is constant.
(4) can be inculcated uniformly.
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According to Piaget, "object
permanence” takes place during
the period of .......

© (1} Sensory motoi".l

(2) Pre-operational. _

(3) Concrete operational.

(4) Formal operational.
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Traditional way of teaching
grammar was opposed by

(L)
(2) Skinner |
(3) Chomsky
(4) -Thorndike

Pavlov
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. . One of the following is ﬁot the

main purpose of teaching :
@ ‘
(2)
(3)

Construction of knowledge.
Understanding the learner.
Making the ¢hildren
understand various
concepts.

(4)
students.
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Creating awareness among
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One of the following is innate :
1
(2)
(3)
(4)
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Interest
Aptitude
Attitude

Motivation

esdibol
(2)
(3)

(4) Goes

Self-paced learning is possible in ...
(1)
2)
(3).

Programmed instruction .
Whole class teaching
Teaching in small groups
Activity baséd learning
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Aptitude of a child in
Mathematics and its general
intelligence are very high, but its
level of aspiration with regard to
achievement is low.

The possibility of achievement in

Mathematics of the child in

relation to his abilities will be ......
(1) Low

(2) High

(3) Average

(4) Uni)redictable
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When teaching children from non-
English speaking families, it is
correct to assume that .....

(1) Children will give up their’

previous language/culture in
order to adopt that of the
new.

(2) Proficiency in one language
can help in learning a
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second, so language skills
will improve if children are
encouraged to be bilingual.

(3) Nothing is lost when the
child's language and culture
are not reinforced at school

becanse they - will be
maintained at home.
(4) Linguistically different

children are educationally
delayed.
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Before taking up teaching there is
a need to take up
(1) Continuous and
comprehensive evaluation.
Assessment of learning.
Assessment of interest.

(2)
(3)

. (4) Assessment for learning.
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When we say a child's thinking is

less abstract than an adult's, we
Children use more examples
and generalizations.
Children use more

‘principles, but require fewer
generalizations. .

“Children use fewer
generalizations, categories
and principles.

Adults base their
understanding of the world
more on particular examples
and tangible sensations.
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A student of class VI is not able to
decide between continuing or
Jeaving the studies because the play

and friends at school are attractive

but teachers are not. The type of
conflict the student is facing is .....

(1
(2)
(3)

Approach - Approach

Approach - Avoidance
‘Avoidance - Avoidance
Acceptance - Rejection
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(4)

(1)

A student of class VIII got

habituated to study only to gain

reward. This is an example for ...

(1) S-R conditioning theory.

{2) R-8 conditioning theory.

(3) Both S-R & R-S conditioning
theories.

(4) Opetant conditioning theory.
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The period of development during
which the child is in the dilemma
of being a child or an adult. ......

Late childhood

(2) Adolescence |

(3) Early childhood

(4) Adulthood
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the National
Framework-2005,

.....

According to
Curriculum
teaching is for
(1) Construction of knowledge.
(2) Preparing the students for
" examination.

Providing the right
knowledge to the students.
Making child achieve above

its ahilities.

(3)

(4)
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(2)

(3

A stﬁd,ent of class X scored 20%
marks in annual examination

which is less than his abilities. It -

is an example for
(1) Poor achievement.

Low achievement.

(8) Under achievement.

Both poor and low
achievement.
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Vygotsky's Socio-cultural theory. |
suggests that a child's
. important discoveries are guided by

most

other children.
adults acting as tutors.

1)
(2)
(3)

adults acting as tutors.

(4) parents only.
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After teaching an initial lesson on

addition of fractions, a teacher
engages students in their' first
‘practlce session. To help the
- students to master addition of |

fractions, the teacher's'main role
during the. first practice session

_should be t0 g %..* -

check students'
: urgderstandmg and prowde
feedback.
challenge students to take
risks and attempt more
difficult problems.
facilitate student:
collaboration and peer
review. -
reinforce the importance of
learning the skill. -

(1) -

(3)-

(4)

neither other children nor ‘
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"A child with good speaking skills

~ has very poor handwriting". This

is suitable for explaining one of
the following concepts.
(1) Inter - mdnndual differences.
(2) Inter - personal differerices.
(3) Intra individual differences.
(4) Inter class differences.
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In order to develop the social
development among the learners,
teachers should know the ......

(1) Physical development of the
learners.

(2) Learners in all their aspects.
(3) ' Performance of the learners.

(4) Personal interests of the
learners.
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Participation of the learner in the
enquiry based learning is ....

(1) = passive:

(2) either passive or active.

(3) dependent.

(4) aetive.
WOSETE  opsnd’  egradKsd
P50 JT° G000,
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26. One of the following statements is

true with regard to the memory
and learning.

(1) Memory is hereditary and
learning is ‘related to
environment.

(2) Memory and. learning are
interrelated.

(3) Each of it can happen in the
absence of the other.

(4)" Learning is dependent only

on memory. - :
2308 2000000 edisdtnndt Sowohod
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Cause of learning disability .....

27,

(1) Organic and environmental
factors.

(2) Poor teaching and teaching
aids.

(3) Low mental ability.

(4) Lack of knowledge among

" teachers and teacher

' educators.
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4) &draines’, s
%008’ ode.

28. One of the following is essential
for learning skills under the
psycho-motor domain :

(1) Creativity

(2) Reward

(38) High level of 1nte1]ectua1
capacity:

(4) Practice
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A student of class I who is
punished by a teacher, develops
fear towards all teachers. This is
an example of ........

(1) Conditionir_lg theory

(2) Gestalt theory

(8) Cognitive theory

(4) Social learning theory
EPTOS0ND BFOHWES w5LH HINS
g8 wolbs adrEEeiw
AT ONE U oo@‘o&omgoowéo 38
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This typé of environment is
suitable for emotional

- development of children ...........

(1) Dominant

" (2) Accommodative

(3) Permissive

" (4) Indifferent -
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(1) (}523&:53-:3.

(2) éﬁoﬁ?&b‘&b

(3) edssded

(4)  &orbsRss

PT.O.



PART - II

BOOKLET @

LANGUAGE I - TELUGU

31-36. 300 DT NEROG. BT

g (DR B0 JIFET,
m_cho'é.

ArLes AW e wollo
BRTEOBITHO; OO DI T
SR UTS

woso m‘@m&o.

$o588 Wrwe o8 Bood Head wilr |

&oePon. 23 JAHrY, Selt OB
@O VPRI, I ool
20080t DS I8 B ey DD &

Doere. wod e %y HEE® Hoehe

BTN DBp  GoHETL. e
SPmeste Sondd Dot Heod
Eoe00d. Ho85TeEES BTG LTS
LUHLBOOD.

P eHFTOBHTO3 “ovéfesvaéréo’
D38 HHAEo, Py, s’ D
IHBHE TGS wotoBood. Ry
ATHOOT DEYDBEE0E®  Soe0od.
O3 FShord 59 Sowd Haokui 08
BoRp0, BodpX e soent b wmets
Fg 0 DEPsBg) T TB wres (R,
30 3rew) Sl B8 wodsby B
vDen Sore BrmeEhheds Tor
008° wdidBne, Sowed® Hdbd

y
TET-311-EI\@}

31.

32.

33.

[12]

BPETTE) doewed, dNos B
Doy EERBBIR 0! e @ e
$0epSE0l enme, 38, Susow
Doy HEOEUD [FS0 Woiosd 25w
B’J.\Jea&.;’?ﬁ Pty

Fosts 385 306 92 &y 3D af

&')2655‘?-% tlelortel | .

(1) a0 3oy BLos® woo%H eens™s
e Soseo.

(2) 03 Soditd BBatio.

(3) 0% HrwTBsnes ws
TBTOBRI0 EPE SO0,

() e Bioen mooesiEdine.

R Do ISR Sotd
(1) Srerddso

(2) oBTBEve <

(3) JBTAGHO

(4) L5885

e et Yo BEHdBy ™D

(1) T3 sron S8 B,

(2) Bores HaTceass SR> Do,

(3) ooB nres S 850,
(4 e ool SO sotsd,



34, ™8 Bloed B Soud B000S0S, P08

35.

36.

(1) Do, 8 .~

(2) a0, Sodys BXD.

(3) w0y, S By,

(4) oy, 5o M.

SP08508 SF0L & HP DT
Gotroso.! &+ 5‘58055 BT al

(1) edwvo
S (2) Saogso, NGO

- (3) By, daste”

(4) HepSBiso, DoepSsio

oies BY Doy &ALy &30
25 o |

Q) w8

@) s /

@) oo

(4) Beeso

37-42.

BOOKLET @

300 B VEHOE, BTG I
5805 HOCID FRIR), Mdood.

Sty Bty Bsooes 8% 0mme S'0e38S

o HovoRd T, SE0D o0 Foowy, X

P RIS HogROBNYE FPAoBN ©

&, Troogen o Stoser B3l

[ 38.

39.

[13]

(1) S

(2) e 08 ﬁs‘éaa‘é:@
3) Fogd”

4) S

S 00 BuUeds Fonvte BuL ¥

PRCWRE _
(1) % Rowrres
Q) o 7

(3) FownBenss

(4) Sood éga»w

o s of, o Botste

(1) Soroed) $9 WSS
(2) 3ovdrdy Do

(3)  msdns rgso Suspen

(4) . Zerad d0RHE

PT.O.



BOOKLET @

40,  woliean, [FPolieado, MelTrdion e | 44, G0 Dogragre’ W SRR

?30“5053}’3@&3 o 280 . : 29500 0WN TS
@D oge (1) 98 esnesudosy
(2) =& "
2) Eod AR
(3) r=vnw 2) Q Ny
(4) sbond” | - (3)  Wial> ofesEd

, (4) 2033

41, ‘R5Url e
(1) 58 Htors, oo, Dol :
@) o8 S0, Som 45. ‘THER HRITTOR’ K ol
('3) S, e, T DERITFOOR0 HOEe TP HBSH00

y H

(4)  BoDe, TIH, THRS | (1) sopgs X

. (2) SOt

42, E5E5%y esdo Hoedd 5D OF Jd

‘ LB sa8fee
(1) sy A\
@) 3wIesw ' (4)  HoEe00
(3)  eozpd eag&
(4)  Berd

46, o5 BEAR, DEWOFIF, GIPEIT,

- PEAT DL &0 PR
43, ‘Soohody Sdodrstooocds JEoh

1) wosel
SIPBEBI0NND UG ef) Bo (1) @wego
&5 B - @) s ‘
(1) @ogmaraies SR 3 w8
(2)  Zoroll BoirteRrinGBe - |
| @ agps

(3) DecHdoHnsn

(4)  Fxocrolly Doterisnn

TET311-EM [14]




BOOKLET @

47, DGy wrEveo WodP wrFem | 50, ol ey Bordd Foles g0l

DSy E IRty 550
{1} &nors PONURSSLCE] Boise , (1) Boos
RS BOBOT BIRGES,
. 2) %09
(2)  &TTE0 ebnry Gaies @
CBRrRs Bdbesm BRSE. (8)  Howmw
(3)  enamyd’d Spohare @) Soze -
ElevSlarEU it il oTnl-Te
(4)  &pors@™ BRrDs Bobes
| TuRshTre aXEde. 51, amsane’ el BHE 908 AHS
Plale '
48, ‘Hospe’ @l Hu Bh B AV Bess
wHATer BEIPHET Syde Babe. .
3% ‘wgiolivo’ wol) : 2) 25
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(2) B DD vesshator” |
= @ (4) &0

(3) B35 B0 Dasasen!
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54.

55,

_ r "f - \
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3508 Sodo FoXHd Soo ¥3 deer | 586,
&o0.” o 33°§5o§{0 LLOTTC
(1) «d%0rs voosdo
(2) ?65955_% BOOTEO
(3) 63;‘:;3*7@03150
(4}  adaroesse 7
QAT G0, FIETS! G T
o o 57.
(13 &ge
(2) ey Lo
(3) wove
(4) >ETBo
RUS NS DprE Dowedo Ny woTww
Sol No o Drrons SSoftcersy’
e Byaoeso | 58,
(1) ;’:Dzsméég 78 el oFf (08
750@2625.
(2) oWy eido o (W8 Dolshe”
(3) PIPLD w0 oF 10§ oORA.
| (4) e;o@esgéo sty oFr I3 Eoézﬁa.
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v Part - III
Language II - English

61.

62,

63.

64.

TET-311/fyrm
Y & "-_,'

“T'his is an interesting story’. To
get the opposite of the word
‘interesting’, we use the prefix

.......

(1) dis
(2) in
(3) ill

(4) un

Identify the correctly spelt word.
(1) champian
(2) champien
(3) champion
(4) champyen

‘Madhavi is \%ery hospitable’. It
means that Madhavi is ....

(1) in a hospital.

(2) friendiy.
‘Lalitha used to fake a slate to

(3) fearful.
(4) bedridden.
school’. It'means that .....

(1) Lalitha doesn’t take a slate

to school now.
(2) Lalitha takes a slate to
school.
(3) Lalitha is taking a slate to
" school. .
(4) Lalitha has been taking a
slate to school.

65.

66.

67.

b

[18]

My sister has ........... (paint) the

wall.” Choose the correct form of
the verb given in the brackets to
fill in the given blank."

{1} paint

{2) paints

(3) painted

(4) painting

‘My father (drink) tea
everyday’. Choose the correct
form of the verb given in the
birackets to fill in the given blank.
(1) drink

(2) drinks

(3) - drank

(4) 1isdrinking

‘Helen is the most beautiful
woman in the world’.
The comparative form of the given
sentence is ...... ‘
{1} Helen is more beautiful than
most other women in the
world.
Helen is more beautiful than
very few women in the
world.
(3) Helen is more beautiful than
any other woman-.in the
~ world. :
(4) Helen is more beautiful than
many other women in the
world.



68.

69,

70.

71.

TET-311{ -

T am very lucky, ... 2’ 72.
Gelect the appropriate question
tag to be used in the given blank.
(1) aren’tl
(2) .amI
(3) isn’tit
(4) amn’tl
“T' should be here ........ the stroke
of five,” Venu said. ‘
Choose the correct preposition to
fill in the given blank.
(1)- in
(2} at
(3) on
4) by 73.
‘Raju plays cricket. He plays chess
also.” The. given sentences canbe
combined and expressed as ......,
(1) Raju plays cricket but mnot
~ chess.
(2) Raju plays chess but not
cricket.
(3) Raju plays not only cricket
but also‘chess.
{4) Raju doesn’t play either
cricket or chess. : 4.
‘Devi looked at the moon.’
The phrase ‘look at’ means ........
(1) toexamine
(2) to investigate
-(3) to take care of
(4) tosee
[19]
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Sheela said, “I am learning
Russian language.”

The reported form of the given
sentence 15 ..........

(1) Sheela said that she was
. learning Russian language.

(2) Sheela said that she is
learning Russian-language.

(3) Sheela said that she has been
learning Russian language.

(4) Sheela said that she learnt
. Russian language.

‘Dolphins look like fish,
are not fish.’

...... they

Choose the correct word to fill in
the given blank

(1) and
(2) or
(3) then
(4) but

In writing a letter, an appropriate
way of writing subscription is ......

(1) Yours sincerely,
(2) Yours Since;"ely,
(3) yours Sincerely,

(4) yours sincerely,

PT.O.



75. Find the correct sentence that
contains the words ‘birds,
distances, fly, long, migrating.’

(1) Birds fly long migrating

distances.

(2) Migrating birds ﬂy long
distances.

(3) Birds fly migrating long
distances.

(4} Migrating birds fly distances
long.

76-79. In the following passage

there are blanks which have been
numbered from 76-79. ‘

Below the passage against
these numbers, a choice of four
words / phrases marked 1, 2, 3, 4

" is given, one of which fits the
" blank appropriately. Choose ‘the
correct answers. :

‘Birds (76) different - shaped

| )eet to suit their way of life. Birds
that perch _(77). branches have
toes that curl reund the branch to
give a tight grip The grip is so-
tight that the f
evgn when rit gDk

oep. Some

rds find in the
ound. Theid hlue toes are
like rake scratch the
ground to thx® up insects and

seeds. Birds 'sukh as ducks,
and swans have feet like p.
to help them _(79) in the

eese
les

5/

.m .
% Jl:l |"',

BOOKLET @

76. (1) has
(2) had
(3) have
(4) are
77. (1) in
(2) under
(3) above
(4) on
78. (L' /didn’t
(2) .doesn’t )
(3) haven’t
(4) hasn’t
79. (1) swim
(2) swims
- (3) swam
(4) swum
80-84. Read the following passage

[20]

bor

carefully and answer the

questions given below it.

Florence Nightingale was
in Florence, Italy, in 1820
(ahd hence her first name). The
ightingales were an aristocratic
ily. Her father, William
ightingale, was a very wealthy
landlord. Her mother, Fanny
Nightingale, loved elegant dresses .

. and parties.


prathibhaa
Rectangle

prathibhaa
Rectangle

prathibhaa
Rectangle

prathibhaa
Rectangle


80.

TET-31 1y

Florence was different. Not

for her parties and silks and laces.
Not for her life of weaith and ease.
That was a useless life ! At 17 she
announced that she had received a
call. “God spoke to me and called
me to his service’’, she said. Her
parents were puzzled.

This turned to dismay when
she said that the ‘service’ was to
nurse the sick, as working as a
nurse was considered lowly in
those days. Her mother was
heartbroken, but she got her
father’s blessings and Florence
began working in hospitals.
Florence provided the best service

to her patients. Her work got-

noticed and the beautiful lady led

" a band of women volunteers to6

Crimea in 1854.

“The Nightingales~ were an
aristocratic family.’

It means that" Nightingale’s
parents wetre...,..

(1) poor
(2) arrogant
(3) noble

(4) extravagant

81,

82.

83.

84,

[21]

BOOKLET

To work 1n hospitals, Florence
Nightingale got the blessings from

(1) her father

(2) her mother
(3) the volﬁnteers
(4) the patients

‘“That was a useless life.’
That life was useless for ......
(1) the Nightingales. |
(2), thecitizens of Italy.

(3) Florence Nightingale.

(4)* the nurses.

(God asked Nightingale to serve

(1) Him through prayers.
(2) the sick.
(3) her parents.

(4) aristocratic families.

Florence Nightingale’s mother
was heartbroken because
Nightingale ....,

(1) decided to work as a nurse.
(2) rejected her father’s advice.
(3) chose to lead aristocratic life.

(4) . was fond of her parties, silks
and laces. )

PT.O.



85.

86.

- B7.

TET-311{F)#1

Change of stress from the first
syllable to the second as in,
‘conduc—con’duct, changes the

(1) from Verb to Noun.
(2) from Noun to Verb.
(3) from Noun to Adjective
(4) from Adjective to Noun.

Searching for specific information
in a dictionary, a  telephone
directory is an example for ...... _

(1) Secanping
(2) Skimming

(3) Reading aloud -89,
(4) Extensive reading
‘The teacher gives the meanings
of difficult words in the pupil’s
mother tongue.’
This is a principle involved in ......
(1) "The Grammar-translation 90.l
~ Method.
(2) The Direct Method.
(3) ~The Bilingual Method.
(4) The Reading Method of
| Dr. West.
-[22]

88.
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‘India 15 a multilingual country.
English continued as a language
of administration, judiciary and
medium of instruction in the
universities.’

This aspect implies that ..........

(1) English 15 a

~ language.

library

- (2) English is ‘4 language of

- opportunity.

(3) English is an International

language.

(4} English is a link language in

India.

In an Overhead projector , a
teacher makes use of .........

(1) Transparencies.

(2) Power-point CDs.
(3) Puppets.
(4) 3D objects.

The teacher makes use of prefixes
and suffixes to teach ......

. (1) Sentence formation.

(2) © Word formation."

(3) Sentence meaning.

(4) Word meani}?g.



91.

02,

93.

(@)

{3)

(3

" The

(1)

- (4)

BOOKLET @

Part-1V (b)
SOCIAL STUDIES

Atmos means
(1) Water
(2) Minute particles

(3) Stone

(4) Vapour

LT @08 ...

(1) o

(2) @8 IFEI0 wenPpo
(3) ©eox | '
(4) esDB

native place of "Bushmen"

(1) Kalhari Desert

{2) East Africa

Congo River Basin

(4) Sahara Desert

(2305500’ e2eaDE BB JaMdEroEY
(1) B a8

(2) &rby D

woft 98 Te0TreNd

(4) DSPO0 IG00

planet. that does not have
satellites <.

Jupiter

Venus

Uranus.

(4) Neptune

EDIRTSR0 BO R

(1)  mosot

(2) ®o

(3} Dot

Hoigotss (FRPy0)

(2)

TET-311 -E@

[23]

94, The

(3)

‘rrvé

95.

instrument used

measuring the speed of wind ...
(1)
(2)

Hygrometer
Altimeter
Anemometer

Barometer
Iy Senerdd  &dBrAod
POSER

(1)
(2)
(3)
(4)

4)

Ei[g@ PRSI
g;s@ﬁbug
DD DRATHEI0

2508

On this day, the Sun at the South
Pole rises on the horizon ......

(1) 21st March

(2) 21st June

(3) 23rd December
(4) 23rd September

S8y G DG BItuss il

. BHER0D &Sos.

(1) 5500y 215 383
(2)
(3)

(4)

a0 215 209
&Eozts 23% BES

Dyowss 230 BAD

PT.O.



36.

97.

98.

TET-311-EMITM

The largest and the deepest ocean | 99.
(1) The Atlantic ocean
(2) The Pacific ocean
(3) The Indian ocean
(4) The Arctic ocean
2® DETD, SHD BOTRER(ESI
(1)  eroeld DodtdHnullss
(2) ?.rﬁf’ogag BoEEREE
(3) oo Bodtanelsi
(4)  @Oedf SosbHEEN0
The winds that blow during
monsoons belong to this category ...
(1)  Seasonal winds
(2) Local winds
(3) Planetary winds
(4) Local and planetary winds
ooBonEn Peod® O HuTres Seilcd
508 DotsTHos. 100.
(1) =erdy w8 DD Ddaren <
C(2) PSR '
(3)  FRed Fdoves ,
(4) 0K %8000 [0 STes
The largest fresh water lake in the
world ...
(1)" Lake Michigan
(2) © Lake Huran
(3) Lake Superior
(4) Lake Erie
Bovos® ed D woRI bES‘{:oJ
(1) QoSmS v,
(2) TS BBy g
(3)  ebBoHd vudYy
(4) 7B vEe
[24]
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This Longitude passes through

~ the centre of the Asia Continent ...

80° E

89° K

(3) "T6°E

(4) 80°E

RBIOET POLHD Wl Toow sy
darossn '

(1)
(2)

(1) 807 omEs,
(2),. 89 &7y
(3). 7 76° 550
4) 90°®r5y -

Asia experienceé this type of |
climate ........ : '

(1) Mediterranean
(2) Continental
(3) Tropical

(4) Desert type

SVA® PO Be GERD BEERED
5OR oo

(1)
(2)
(3)

BT
POTBS

sotie

(4), “de8 8%



101

102.

@
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(1)

@

The reason for 'Nile' being called
as the Gift of Egypt .......... |
Egyptians worship this river.
Great civilization flourished
on the river banks.

It has provided a number of
hydro-electric plants.

Egypt would have been
ehtirely a desert without this
Tiver.

D00 TR HOETEHN @
DeNerdd Ko TREeN

1 L) Paes T A0 T’.Q)"’eé@_jﬁb
(2) & 2B dos® A7y TrOsBwo
NSO,

30 oI5 modiopnd Sorois
SRR PR

(2)
(3)

4)

(3)

RO B0 &oBd.

The primary oceupation  of" the
people of Kalahari Desert is .........
(1) Hunting.

(2) Cultivation of paddy.

(3) Cutting forests and selhng
firewood.

Cultivation of Coffee
plantatlon

500 IO Bre BB

(1) SHersoes.

(2) 95 Bossss I Sakases.

(B) wexpode $03 Doe JLoBNs

(4)

EN

@m&eo,
5% Hoe SR Daoes.

Ba 00 BIT Ty Inge

103

)

104.

[25]

(4)
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Latin America consists of ......
(1) Siberia and Alaska.
(2) Mexico and Central America.

(3) South America together with
Central America and Mexico.

South America and Central
America.

35 el & STre G &50.
(1)
(2)
(3)

{4)

2DOCIT BN WO,

A08,8% HoBc Woi; R0

E3es éﬁoés*, Bogy N0
Bdais Bod e 880,

=T GOSN T RIS} LR RTSTL CUBSR TR
A0 . -

The river Krishn'a enters Andhra

Pradesh at this place .......

(1)
(2)

Nandyala in Kurnool district.

Thangadi in Mahaboob

Nagar district.

Mannanoor near Srisatlam.

(3)
(4)
5P 96 SoFHDISE’ 5w [BRIIHD.
(1) sme
(2)
(3)

Sangam in Kurndol district.

sEmes 2ed’) SO
BasrerE SKE Sers Bond -
B0 BIfY BT

s 2D Bortiw

PT.O.



105.

1086.

© (8)
. (4)

- (@)

@

The conventional sign used to
indicate river on a map

(1)
(2)
(3)
(4)
Bedd! BOY Kooderdd Eeded
POFTPORE W SBCrAPE.

(1)
(2)

(3)

Two straight parallel lines.
A straight line with dots.
Two parallel lines with dots.

Two uneven and curve lines.

Do HRPoSS Syeo.

DX o8 KrED 3553y,

Spoo. 7

Doty WHHTH HEFOpL.

-‘The first Paper mill in our State | -

was established at this place....
(1)
(2)

Sirpur-Kagajnagar
Rajahmundry
Kurnool
Bhadrachalam

503 Orgiods® Buodsed SRS ooy B
FnoWiod.

(1)
(2)
(3)

280 -mnESKb
ROl

§6J‘°&m

é@éec

SN ed EPAS Todo SHroBS

(26]

108.
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107 The material that 1s found on

account of excavations is called asg
(1) Articrafts
(2) Artillery
(3) Artware
(4) Artesian
(B350 P Vo PN HWPOS
Lefold U Rorvwmass.
(1)
(2)
(3)
@.

és;éém "
woen
WDBDIPe

Aeerd

Khowledge of this branch is useful
to study the origin of human
beings

(1) Anthology

(2) Cosmology

(3) Anthropology

(4) Archaeology

JPBRDHS VY NMoBow)  eiaioso
DO Be TUPGR0Y, DO ePHE

--------

995800,

(1) esofrof
(2)
(3)

4

5‘3‘&@2?
esolBares /7

&B@b@"ﬂ)?ﬁ
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110.

' 109. This was the first dictionary in

Sanskrit language .......
(1
(2)

Kalhana's Rajatharangini.

Amarasimha's

Amarakosham.
(3) Patanjali's Mahabhasyam.
(4)

‘éo‘bwé

Panini's Ashtadyayi.
z,:vt:;é‘sé BooeRaoesed
QRO0LIY.

(1)
(2)
(3

(4)

Borod Tusdloficd |
IO RoEREH
DBoed Do /

eI PP »1//

Barter system of this period |
encouraged future trade and

commerce .........

(1) Palaeolithic Age

(2) Mesolithic Age

3) N eolii;hic Age

(4) Bronze Age

Bs ToBod I HASIGE BEO N5
D% Pl Foirodns.

(1) |
2)

G TPAOR0NNS

B0y BOARNED

(3) 5% codaonsi
(4)  SPokg CoNH /
TET-311-EMITN

111.

A2
@)

112,

[27]

(4
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The factor that brings similarity
between Indus civilization and
Mesopotanian civilization ......

(1)

Economic sources and their

utilization.
(2} Language
(3) Natural conditions
(4) Ways of life
VoS> THOEHES. © JovneStdayr

THROSHE> WO No OTDBRO B
LOF

(1) QB 5500, TP AABFNED

EALCY
i 3503005
(4) 5% domses

A scholar who adorned the court

of Gajani Mohammed ........
(1) Fahien

(2) Itsing

(3)
(4)

Hieuntséng
Al-beruni

N 20smnnd @) eeoklodd

DRy

(1) pa»s )
2)

(3)

Q@QQE
RO Eoh
wdBErdH .~

PT.O.




113,

Out of 30 major spoken languages
of the world, Indian languages are

1)y 11

2 09

3) 05

(4) 06 \ |
EPHoVHNS’ BB Srurd 30
ug’ , rBa §TE o

(1) 11

2y 09

114.

3) 05 -

@) 06+

People of Indus valley civilization_ |

had trade and cultural relations
with this country .......

(1) China
(2) Srilanka

"~ {3) Afghanisthan

(4) Burma®

Bogodian S t.:az:ey.; 5o g8
SYE, P, YOS Sowogres &oiid.

W 3/

2) @eog

(3) ePIPS

(4) a:cfé "

[28]
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115. The first capital of ‘Satavahanas'...

(1) Dhanyakataka

(2) Prathistanapura

(3) Staneshwaram .
(4) Kanoj

FOBTIV00 WS TP
(1) oodgNessoo 7 ‘
(2) EOFPSHEE [

(3) FSwEn

4) &

116. Though = Porus fought with

Alexander bravely, he was

defeated because ......

(1) Alexander had
expertise in warfare.

(2) The weather during the war
was unfavourable to Porus.

great

~(8) Porus lacked the skill in

‘warfare,.

(4) There was disunity among

native rulers.
DT HaE @Bﬁt:oddaés St dsorm

HESHAL Be50e0d LS.
(1) eopent fH) iy P

505 B8,

(@) oty Wsawedt it

' PESOmEe  eReErDoby
g SIT O T

(8) wrolfEEndl abu oen
BERDeo0.

(4) ‘@53%0‘5’-6_553 w@_gsi;s. / -



117.

118,

The founder of Chola Kingdom ...
D |
(2)
(3)
(4)
T ey Fox

Viayalava
Rajendra
Raja Raja I
Kulothunga

(1) Ducirectoty <
(2)
(3)
(4)

TPEOIEED
Perer- |

& R

The Kingdom under Delhi
Sultanate was divided into ........

(1) Mukti
(2)
(3) Subahs

(4) Jagirs

&D Logmomy B T Be Dyore
DesedoRo.

Igtas

(1)

[29]

120.
. 'Asthapradhanas' was introduced
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119. The land revenue under Ryotwari

system as introduced by Akbar
wasg fixed at .......

(1) % of the product.

(2) % of the product:

(3) % of the produect.

(4) % of the product.

et IS Dond BEoS

PRE Brdol dFor

ICH0W2GERD.

(1) Dowd® % % Body

(2) Dowdt % B BBy

(3) Bowst % 5 Sody

(4) ‘éoeaéf% % Hody

In his administration,

..........

by this king
(1)  Krishna Devaraya

(2) Pratapa Rudra

(3) Shivaji

(4) Raja Raja Chola

8% HOFoIS SO G R
SEe3s orer

(1) $rpsocobes

(2)  PEvnsisats

(38) e~

(4) oemoradieos

PT.O.
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@

122,

- (3)
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"Subsidiary Alliance" as
introduced by Wellesley means

agreement between the Governor
General and Indlan Rulers

regarding

(1) Land revenue.

(2) General administration.

(3) Mutuﬂ military assistance.

To keep large British force

within their territories and

to pay for its maintenance.

ATy EIRGS Yy TS BHO”

GO KSSE 2Rsd Beddn bk

(5552) Coeve. Bof; Bs L0HR0NE

FowoLOWD wdyolSHw )

1) P 3.

(2) Dgtes BOJos.

(3)  BERY P BsEH, :

4) 8 ovasbse:é‘ 8 (3R ?-"3",35&
-QO"bm 3% 8:5“5203 &99.'3: PEN0
0% T 0o, /&

The salient feature of
Vandemataram movement
(1) Refusal of taxes.
(2) Encourage swadeshi goods
and boycott foreign goods.’
Refusal to join in mlhtary
force. -
"Protest against arrests of
national leaders.
HOBRPBLC ELis00 Doy VX0
(1) Sdywdn w8osewe.
(2) H0R ¥y Peryrne - 203
Oy ey
DG’ DerD3. BBk
POOL TN GOBIeNs
85803000,

........

........

(3)
4)

(4)

123.

. (3)

(2)

124.

[30]
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One of the disadvantages of joint
family
(1) Upholds the customs and
traditions of the family.
(2) The elder of the family
safeguards the interests of
aill members.
There is concern for each
and every member.
Authority is vested in the
head of the family. -
‘oé’.bq Ere000508"8 &) SRETFUS

(1) Howooe @Td PRI

(4)

redoddor wrtoe,
oo  Qlomdi  Botvow
wgPog0otd Poow  DEIIS
BOBFoW.

(3) Howvow Hgoolsd ePRIReD

- SedouielTioe.

(4) \36053‘@5‘50 Xaeooe CSoeNrad

SR dodoe.

Commumty means
(1) A predominently primary
human group.

Group of people having
particular occupation.
Group of people living
together having social
identity and specific
geographical area.

Group of people belonging to
a partieular class or tribe.
VSTt eold |

(1) oo Ko (FEDE B
RIS,

BBE B o HeR BB,
BoE FROY 00D, Fwrey
o000 ¥OR, 68 Fep 50% Sols
(e SRomen,

23 P08 DY BNDH DodD He
FONLOLCLNILH

--------

(2)
(3)

(4)

)
(3)

(4)
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(2)

(4)

- {4)

(1)

Under  this situation  the

individual can directly appeal to

the Supreme Court

(1) Imprisonment given by the

High Court for 11 years.

Election disputes in State

General elections.

(3) ‘Land disputes.

(4) Property is seized by the
State government for pubhc
welfare.

---------

(2)

| @oa $0REE* BE Wl §ps’ It

8903_3@.) 5@3?5&@53

(1) o{iget%g 11 Souoees %‘5/
DBODH RS, :
TR FFUe dEed’ smmres

RDyEEys.
TrETTUS ’
e cooéa’):o §%0 TREEE
Beo esidoen 3‘*55:00 A
f:méob&@dia .

(3)

The President of India can be

impeached if

(1) he returns the bill as passed
by Parliament."

(2)
(3)  he interferes in Judiciary.
he involves in Election

. procedures.

) aa‘oéwé‘ PITeTs
&:ﬂowm‘)m

FEI0e  EDTOOWS  Deods

DOA Dowbypess.

cvgo’a@a')

(2)
(3) wnais ;'aszfa‘oes‘a &%0
5@35‘5&@3&:
Doe DS
3‘&3330:)95%&3533633

(4)

t,ﬂ‘
-

he acts against Constitution.

ool Dilatgiaoor $BsEptr”
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127. He is not a permanent invitee to

the meetings of the Zilla Parishad.
(1) District Collector.

(2)- Presidents of all Mandal
Parishads.

District Medical and Health
Officer.

Chairman of the District
Cooperative Central Bank.

(3)
(4)

PRI T LS
e_-eﬁ_s_eﬁé:;‘e» IR,

B DORBY TS

(1)
2)

(3) 8 s, ey 950

a%qg 5@5&:

Soode DOREY eddbes wolty
(4)  2er SrTE ol Rk e

......

This is a legal duty of a citizeh
(1) Obeying the State.

(2) Helping the needy.
(3) Respect towards elders.
(4) Being truthful.

50 PR G0y, DegHvTAD aqus;sea

(1) orex0 ;’5% 3)50595 59 dodow, -
(2)  BBuRD TS BiFah B,
PEOR FEAoB.

(4) DGRV Golioe.

PT.O.
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The very survival of democracy

rests on .......

(1) Parliament

(2) President

(3) Elected peoples
representatives.

(4) Voters' decisions.

Elaplepela

&081308. |

(D &@cw

(2) c‘@a@

(3) DY TED PRS0 -

(4)  Lexts DT

One of the following is not a

traffic offence ....... '

(1) ignoring the traffic 51gnals
while using the road.

(2) following the speed limits

prescribed for motor vehicles

(at school zones, busy areas,

ete.)

parking vehicles “in
Parking' areas. '

driving . motor vehicles in

opposite direction on the

one -way roads.

(3) 'No

(4)

54 (308 RIS (£705 DB T2B.

6508 Sadrficdips ke
oaﬁclw}&) eé Soeﬁ Ebe‘ﬁdio
ARFE TITISH :36&:9
PHoo5s Fedowso (mv o0
&wodar, 6§ @:é:téoese‘w
Doodw0ass).

PTRISIINY FReDETER
Gdes® T Jenwe.

o8 036" DSOS Baied,
ARG RSB Told [
bguo.

(1)

@)

(3)

(4)

- 131.

(4)

i32.
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An example for a pure public
good/service ........

(1) Air

(2) National Defence
(3) Road

(4) Railways

BypBen  BOE  Bepeo/dBess

| AT

(1y o
(2)

(3)

éﬁédﬁé&z
&y

Eéﬂsw -

This is not a basic economic
question ..........

Why to produce ?
(2)
(3)

How to produce ?
Where to produce ?

For whom to produce ?

30 @88 Tomdd Dowofodd Bﬁ3"€)§'
(5% TS0,

(1)
(2)
(3)
@

Dotk &tnd Jasrd
DT &E DOIPH?
D5 & SO DoKPD?

50 ST &8E DATD?



133. The basic principle of Cooperative
socleties ..........

(1) earning profit.

(2} public welfare. .
(3) each for all and all for each.
(4) encouraging shares.

SEseS, doge By ?oc;oé.’bzi:o

(1) oogrgs.

(2) e Sognom.

(3) woS0E°CEY @oos, SHET%
e20l%e,

(4) Trerosy FRopmoises.

134, Dr. Amarthya Sen defined:
'Economics’ as .......

(1) Science dealing with wealth:

(2) The study"‘of man and his
welfare.

(3) The science of choige.

- (4) Welfare of science.

ah Dol g @Emca;b& o

QUsDTE.

(1)  SHeHds dowodows %‘*Q;’Joo

(2) $PBRG, B (FaUoboyde
e5ao0iR Saowe

(3) oY FgHw

(4) Qe TP Bolbiy,

BOOKLET

135. Utility can be judged by ..........
(1) Producer
(2)  Consumer
(3) seller

(4) Economist

(BP0’ D0 B> IO
(1) &8 8mrtates

(2) VBRFRTEES
(3)1 @m&é‘;@)m&&o

4) oymEay

136. An example for secondary sector
economy ........

(1) Forests

(2) Animal husbandry
(3) Water supply

(4) Real estate

BB Bolf €Y HESH ST
{1) @Cﬁé)e:o

(2) Stosongse s

(3) &3 DIPG

(4) Band I8
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137. The formula for calculation of

Real GNP ......

Nominal GNP
Price Index

(1) Real GNP =

Price Index
Nominal GNP

(2) Real GNP=

{3) Real GNP=
- Nominal GNP~Price Index

{(4) Real GNP=
Price Index+Nominal GNP

TS S ABPEHEY B ordd
EHADFROT BBHD
(1) =% ¥yro pORBTEE =
TROHIBR) BPe @aars®
550 B0

(2) TR JPo wSAITGS =
BB BFIY
TRRFED) Breo PEDFEG

(3) R WTo rEBrEyE =
TRENFED BT PBATEHS
— Hle Jr0K

BOOKLET @ :

(4) 0 3P0 PIRTGG =

S50 BIUE + TRSTSD
B PEBTENE
(=] -

138, This district occupies first place in

the deposits of Mica ........
(1) ‘Nellore

(2) Chittor

(3) Prakasam

{4) * Mahaboob Nagar

esgiEo Jexd Baocsed Fod® &y e

(D ez

(2)  Derss

(3) t::sv?éo

(4)  SHodveard Kb
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139. One of the differences between

Social studies and Social sciences
(1)
adult centered,
sciences are child centered.

Social studies are practical,
Social sciences are theory
based.

Social studies deal with
environment, Social sciences
deal with man and his
relation with society.

(2)
(3)

Social studies are advanced
studies, Social sciences are
simplified portions.

(4)

ook ‘-avgm:sg;, BT TGOS

DO 28 TRUBHIES.

(1) Sropo¥  F%d»
5o SoRERA.

(2)

ooy TGN BOSTO KBoD
D50Bg0B, IITRE  TIRIN
PDIHRYNEY, DRrmHns Ko
HotofRoae deodeo.

(3)

(4) ‘3"039.?5' &9455053:)
DEREIHO, FRrRE TG

‘éyégaobabd‘.é OTOLEY 5&:\)

%"Qbm

@otwod.

Social studies are based on
Social

SAIrED
Sobnysaoss, Faras g

ool TR LBTeRSEEDN, |
FEFEE TR DIFow a’acs:qa_;sa\./
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The nature of Social studies is .....
(1) Scientific

(2) Technical

(3) Humanistic

(4) Materialistic

FopoE THHN Bs Ve, ¥
BB,

(1) @Y Sowoiond,

(2) Fo3HY HUARG.

(3) w5 dowoi@uds ~

(4) 92y DomaEAdd.

"Social studies are concerned with

man and-his social and physical
environment. They deal with

human relationship" - is the

definition of Social studies as

‘given by ...........

(1) James

(2)  Committee of School Boards,
Victoria (USA). |

(3) Wesley '

(4) Michselis

oS AN Do, LB G,
Fopos, FROY HOIEHLE . Ko
ROWOHBIIDS e TIoR0 3263@5;; - @
QDD s,

(1) #5,

(2) dweeo Sy 5o - dSfar
(USA)

(3) W

@) 33,

PT.O.
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143.

learning experiences
provided at the 2nd stage from the
top in Edgar Dale cone of
experiences .....

(1) F_ield trips
(2) Visual symbol.
(3).

Motion pictures

Exhibits

56 Gb cetorss Bogo” & phod
Toesd Jood® diy) e e,
(1) 3@ Sugesden

(2) &y roddzes 7

(3) %68 digrew

(4) B&5ve

The highest objective under k
'psycho-motor' domain .....

(1 ‘Naturalisation

(2) Judgement

(3) Co-ordinating

(4) Impulsion

SESRE DoThE boland® Essor
& ©F 50

(1) Sprases

(2) ;P?Sotb QFao
(3) wassgame v
(4) (Eos

144. A

145.
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specification for the
instructional objective 'develops
interests’
(1) Infers.

(2) Translates data ‘from one
form to another.

(3} Enjoys attending debates on
civic problems.

(4) Develops a sense of respect
for National Flag.

D) Eo0R0 DOPOATERI!? — et

D I HORODEID HETe

(1) dosse.

(2) 25 EFEE B0 2o0G¥

| BIBEDE e0R00we.
FRels coa’ua‘oges‘o aowo@c@/
DEE° PEY esvoboton. 2
B BT Dot T
gﬁaob& It et LA LT @’zfﬂ

(3)

(4)

'Emphasis on holistic nature of
learning', is based on this type of
curriculum organisation .....

(1) Concentric approach

(2) Unit approach

(3) Spiral approach

(4) Chronological approach

OB BT BEODD (g’
SN0 o OERH MOHvo ERRD
SEORG &oewod, :

(1) Dfoipon 558«

(2) 0% 553

3) > _}65 ad@

(4) swg;’a:vmm DHESFe 5B



146.

This is not an area under core

curriculum of NPE, 1986 ....

(1} Safeguarding human rights.

(2) Removal of social barriers.

(3) Protection of environment,

(4) Observance of small family
norms,

1986 e=@ok vy @erds 6% BEvS

| 50%00a08" B woto

147.
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(1)
(2)
(3)

SR Ty e HOUEe <
Dol eosbissrete S RoWL
Brgatier HOTYE "
D:‘s& Eoea00e) 470w

This is one of the limitations of

lecture method ......

(1) It saves time and covers
syllabus.

It makes the work of the
teacher simple.

It gives students training in
listening.

It gives little scope for pupil
participation.

&ergd HEEER bk s

(2)
3)

(4)

(1) SRocumDy Feody B, dowdso
P8 Doaude.
(2) &TErind BAD DooFsse
Sodoie, |
() domgpess Dowd’ Bges Ay,

(4) ogEsd® dmges SEwE

BB wdsv oo,
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148. The 3rd step under 'Herbartian
school of Pedagogy' ....

149.

(1)
(2)
(3)
(4)

Preparation
Association
Presentation

Generalisation .

rongoies g HE¥S Sores

@

- [37]

Pssad

(1) K)o?éc‘.g@,

(3) @'acsq?:s»/

(4). Derodsses

’I‘hié is not a basic principle of

'Project method' ..... '

(1) Principle of activity.

(2) Principle of experience,

(3) Principle of general to
particular.
Principle of utility.

[PEyTe oo’ 98 2 B BIEe

0.

(1) H¥; o

(2) ey SrEo

(3) grves Bood EBMEwIE e

(4)

QD Bo

BEPES BP0 /X
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150. In order to find out why a

particular student is committing a
particular mistake at every stage,
the teacher has to depend on this
type of evaluation tool .....

(D
o)
3
@

Diagnostic.
Summative.
Formative.

Both formative and
summative.

BOOKLET

a8 Do ¥ Need® ay (HBERS
POTe HOFE oo Dot E’
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(2)
(3)

(4)
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